6/23/23, 12:56 AM s I | g 5 el pe

GwolS JIl

©loojl g A )liie i Gl @lil 4y 1) o) opusio N @B umo JISII jlade oS sungiy (glaolip

A3 iules g 035 35 jlikel @8y g3 U 1) dms g 6355 duwlxo (T (glajasio (glp 630 631y

b bl bn n n
/ exp(—:ﬁt A j)d;fj — / .. / exp(— Z Z Aija:imj)dxn ...dTy

i=1 j=1

Ol Glopsio das ¢y 0.01 L plpy glo P Job L @ladijed Gbg, jl JUSDI el ¢33e o slp 1aisS

dgun o3latuwl

Aoy ilo g lajlsp b ¢3S IS plShe 38 500 3Slae cucpn gy cuwl yigy Jlgw (ol J> 3 ileinly
&195 pggan jl lgie 95 43 93 leaddl> jl Lzl @lp T JUS 43 9 335 oslaiwl NUMPY aillis |l
9 39290 G pile Lps 43 A file (Sob aianuss SaS 4y aS g oy 3gib eslaiwl LSl
Jool> alogo jo 53 6S (5)9b & cwlS S dloje yo )3 lopsie Slasd jl psie S g9y JUSDI olal
JUSC1 SO 6y cles J3 4y )5 (3 9 35S o kT b IS Juols> oy diunlg 1) jasio K JSSI
h JUSSI JS ol cnles 53 LS Jole aolis j3 1301 g ¢ Jlade 3T cwsy b S sy a5
GLSjL Jlible cule a4y lopio Slaed Ginliél g 53 Gby) ¢l a5 cuwl 453 a4y jl asidl 39T cuws,
Algis0 S 35S oslasiwl NUMPY a5l LS meshgrid oslgils> galgi jl (ylgs (o 13) 39y slgs 3iS Chaub oy
as for gladsls jl eslaiwl 4 gjls ;503 wWluwlso Gjlwglap L g 35S (gaimin 1) aliuwo diols JS
UL jusio dla=i jd akidls 3guoS JSuio b JSio jus (g ¢l bol aubls siads0 holS ) 35 ol cucpw
4 B el 35509; 93 ¢l wawlio Gl 35509y gupie 13 300 azlge S)jh uSYLSDI sla o)L g

(_ISL) Cauwd ahdls gy JJm olpoo du aS sl cuwlbo cucypw

(5°9J9

aS yguo ol 4y gl sl A ol b (Jgl b3 53 aS subl b duw s cunl (50 XS (5399
() alold g LIS G b g o 3lg o pw iy BT U Jgl shw jl odys ay gyl jl b jo

b 3 .aigiioo 132 50300 jl aliold SO b jus haw jo )3 39290 sl auls g Mgube SuSas S

https://quera.org/course/assignments/55207/problems/184605/print 1/3



6/23/23, 12:56 AM s I | g 5 el pe

Nigibso Ylg K00 jl abold S b g lopsio culi)i b jblis lajkio deo () gl gbS 13lEo ogs
G 350Gl aold G b g culyS oy psio o b yblio (b) UL oIS psléo o 3= b 43 g

-SG50

-

G799~

.\JS Jliiel @8 g3 iy U aS 3g salg> ;9530 lefJ..SI Glp o3 duwlxo jlago jub aolp (s>9)5>

g0 0313 Giule jlixel @8y 93 woyd (ylaod L (,>945 53 9 Cuwlosid
dlo’o

| aigos (53959

2.5

| digas 295>

¥ daigai (5399

1000, 0100,0010, 0001
-20-11.20.7
2115.21.3

P aigos (s>9)5

https://quera.org/course/assignments/55207/problems/184605/print 2/3



6/23/23, 12:56 AM s I | g 5 el pe

0.53

M aigos (5399
10.5, 0.51
-2 -1
3 5.5

P asgas (5>95>
3.20

https://quera.org/course/assignments/55207/problems/184605/print 3/3



